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Candidates are req 1o read the following instructions carefully

1 mmmmmnmmmmmmmﬁmam.

Do not open the Seal of the Test Booklet until you are instructeg by the Invigilator
V2 MHmmtﬂﬂﬁﬁ!am#tmmmmmmﬂa F ST W |

Use Blue/Black Ball Paint Pen only for marking the circles in the OM& Answer Sheet

3 mmm*aﬁamummﬂmmmm.mmmmlmw
u#aﬁumﬂzwmmuimmmaﬁmmhamn
Please write down your Roll No. and Test Booklet Series in the OMR Answer Sheet correctly for proper evaluation of
your Answer Sheet. Da not write your name or any other details (which is not asked) on the question booklet and OMR
Answer sheet,

4, I A 120 agaE ww#[w#wTﬂi:ﬂhhMT#&uﬁtwaﬂmm.qﬂﬂmm

iﬂm.ﬂn[ﬂm,mmw{mﬁasﬁrmmwtﬁruﬁﬁmmahwm‘ 81 ¥ 120 &%
twmw:mmqrmmmm#ﬁmmmat ~PFAXF | -G & olfid
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e | wwt # amem or smfta B9

There are 120 objective type questions in the Booklet (Question No. 1 - 120). Question Mo. 1 - BD would carry one mark each on
Reasoning Ability, Quantitative Aptitude & Computer Knowledge & General Awareness and from Question Mo. &1 - 120 carry 2 marks
each. Professional Knowledge — for Group A to F. General Awareness Test in lisu of prafessional knowledge test for candidates
belonging o Group 6. The additional topics covered in this part will be - [a) Data Sufficiency (b) Analysis of Information/Analytical
ability (c} Data Interpretation.

5 TTed 30T & TAU wones aiw A8 F
There are no negative marks for any incorrect answer,

6. S 9 ¥ 4 PEey RY il E GeA & b ow o | Pecan af s 8 R 3T 3 e e £ | @l s
e fafega &t
There ﬂirmmrumﬁni{:m question out of which one is correct fclosest and the other three are
wrong. Fill the circle corresponding to the correct / closest option only.

R NE s A W sjrafwe il fear @rdem |
rd;l:ersm against one qm will not be considered for evaluation,

- wad |
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Do not fold, cut, mutilate or put any stray marks on the OMR Answer Sheet.
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Do not ﬂtﬂﬂt;ﬁ Lﬂﬁnmw:::hnt. It may be done on the back side of the Question Tju,
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Please ensure that you have returned the Test Booklet, OMR Answer Sheet along with the Original Admit

the Invigilator before leaving the Examination Hall
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SET-B
General Awareness
Question number ; | w0 B0 compulsory for all Reasoning Ability
L ﬂ'.\\hlIH!CIEBHTEH'delnmhnwmllmmll EAT" T
A 39135 B. 13736 C. 39139 T D, 3o
ot A1 8 B3k Cst D?IEilﬂmm%EATdrmﬁﬂ#?
A) -m B) 1ars C) amae D) 3141
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. How many such digits are there in the number S86972 each of which is as far away from the beginning of the number
as when the digits are rearmnged in descending order within the nmumber 7
A. One B. Two
C. Three . Maore than three
e saeeT W e sl o9 E0 Bl s @ qe o oefua e d aefes den @ o o d )
A m B. =
C.%= 0. @A # witrs
9. Sita was counting down from 32, Mita was counting starting from 1 and she was calling out only the odd numbers.
What common numbser will they call out at the same time if they were calling out at the same speed 7
A 19 B. 21
C.12 D. Mone of these
#hm x2 @ Frey aes 4 Peen we s #) o @ Peen o sl 8 3R 1w dae A e # 6 dam # e 9 @ Peed ool
e aperen B ol crere el (3eael ] anen Ed)
A w B. n
C.2z D. awjsn #§ T8
10. There are five different bouses, A to E, ina row. A is to the right of B and E is to the left of C and right of A. B is to the
right of . Which of the houses is in the middle 7
A A B.E
C.D D.C
A # E ow dia wan we gm o § 8
ABd el WECH el f o Ad s 21 BD & = 81 el & da A de o oae @
A A B B
C.C D.D
1. The position of how many letters in the word BRAKES remain unchanged when they are arranged in
alphabetical order ?
A One B. Two
C. Three . Mone of these

BRAK.I:‘Smi"rrhw*agmanma:mfhulummmamcmq g e W T

B 2
2-. ; D. 5o & & Wl
12. PROMOTION is writicn in 8 certain coded message as (S P £9, then what will be the code for DEMOTION?
A EFNLUPM B. BEG B9
C. DSPE9 . EF 89
FROMOTION 1 u s 1 vl & e ob o7 & Fevan a5 s el 1 v 4 DEMOTION @ foey 9o Rven
A. EFNLUPM B. EGE9
C. DSP&9 D. EFRY

L LbcanON . PATNA
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SET-R
Reasoning Ability, Quantita
| tive Aptitude, Computer Knowledge & General Awareness
13 lrtrut ||ﬂ:dﬂdl|M'Rll‘!ﬂﬁhltwlllb:u|g¢mhh'5mp
A, UIGR B. QFCN C. UJKR . R
:ﬁ ‘boat’ o ZMYR ® #2 4 Mo o n'lmnqh#sm i fory wm (v oty 7
) UIGR B) QFCN C) UIKR 1) QUG
Dhrection : For next 2 Questions.
In the followi i 1
n DWIng two questions, there are two statements followed by a conclusion, You are 1o cxamine the statements and
A if the conclusion is definitely true
C. if the conclusion is definitely false D e bk

D. none of the above
i =T 2 el & g
I’-HI?HIMﬂmwﬁﬂihmwimmamm’rhmﬂm-ﬂuhhqma-ﬁmms|
A ot Presd Piives wo @) B, uft Pravl s @) wwen @)
C, uftt P Fiftes e d) D, T i )

14. L i% & science ufnud}- of metals,
II. Most of the metals are solids
Conclusion : Metallurgy is a science that deals with solids only

wF wigall @ ama W e 8 11 sférwem wrg dre o #
I*:g axR] Fe a8 e & ol doa o o frew wen §) < I
15. L. Bam is younger brother of Shyam I1. Ram has one sister

Conclusion ; Shyam is younger than his sister.

I o v v g &) IL. 7= v w7 &)
ﬁﬂ:mwﬂmﬂﬂu#l
Dhrection : For next 2
ABCD.E & F are sitting along the circle facing the centre
1. B 15 an immediate neighbour of D
IL C is an immediate neighbour of A but is not an immediate neighbour of F
111, A is to the immediate left of B
Fridm - T 2 W W 32 o9 33 @ fag
A B C, D E&F grmer #z & siv 4 fg @ gu 2

I B D a wwdt Prse ol &
IL C A m wwd P addl & ovg F & 599 P sl o &)
ML AB & ywaw Pz afl 3 @ |
What is the position of E
o A T:ﬂ:hwhﬁoff B. Between Aand B C. Second to the right of D D. None of the above
ey e & 7
i‘ri-nnuﬂam B.Avd B @& 4 C.D & afih s gal D, wyde ¥ 2l
5 Which of the following is incorrect ?
¥ A, Aissecond to the right of E B. Cis o the immediate n%E
. B is second to the rght of C D. Ais o the immediate left of
Prtfftnn & & o3 nan @ 7
A ABE & =ith siv guu) B C & E & wit sl goegn Frae |
C. BECd afth s goa) D A B Cd alt ali wwen Freee)

Direction : For next 2 Questions, _ i :
Acube is painted on all sides ﬂ‘wmeudll:ﬁculun such that opposite faces are painted in different eolours. This cube
27 smilller cubes of equal size

is cutinto 27

g &
'“: :"I::‘“‘h'*l".-ﬁiﬁﬂlmmm!mvﬂﬁhuHﬂrmmi#ﬂiwl'h

18, L fhos 2 D12
g D 12
= face white

i o S e %
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easoning Ability, Quantitative Aptitude, Computer Knowledge & General Awaren
a1l

20 Three of the following four are aliic
3
.-"f ” H:n;l certain way and hence from a group. Which one does not belong 1o the group 7
C.28 D. 51
A
Prefeften wre & & @1 g fid ware @ LU LR T S TP i —
A 12 B. 21 . " i
C.28 D. 51
1. Find that pair of numbers which i
gt ich ix mHJl: ;czl;t;d to the other three pairs of numbers due to lack of commaon property
C.57.69 D. 73,61
somnll # o R qfte S oy B A sl @ e e @ s A R {1
A. 47,59 B. 4229
C. 57,69 D. 73,61
22 Which number is wrong in the following series 7
1236, 2346,3456, 4566, 5686
A. 1236 B. 3456
C. 4566 D. 5686

Prefafien =8 4 sta—d wem mem

1236, 2346, 3456, 4566, S6RG

A 1236 B, 3456
C. 4566 D. 5686

Diirection : For next 3 Questions.

In each of these questions a sequence is given. Choose the succeeding term of the sequence from the four altemnatives givenm
each question

Frdm : el 3 el & g
s el o0 om agen ) wols W @ IR Rl Ry o ) g 9 eovedl me A R o am @ gRw

=

10, 1, 11, 1, 12,1,
A3
C.0

=
5

1019119211
A3
C.0

24. PRESENT, RESENT, RESEN, ESE?
A. EEN
C. ESE

DEZ oo

PRESENT, RESENT, RESEN, ESEN

A EEN B. SEN
C. ESE 0. Mone of these

LOCATION - PATNA
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SET-B
o Reasoning Ability, Quantitative Aptitude, Computer Knowledpe & (
rection : Rcl';l:':t::l: ﬂlﬁ:il;lm&ﬁipha bets from A to Z are coded inta numbers | 1o 26, A word ;

eg CAT tsmdcda'.;ll lrvﬁn?li:gdgmg the number of letters in the original word ag gn .L'j:t ,": coded by replacing ity
203, 88 1233 and XY Z a5 2425263, The coding may resultin o PUmber o the righ

lm w:‘;‘ 1 0% @ g S omumique decoding

A E o @ sml #1920 a9 g Pl e T

s ] o T o s H:hn iy a-la:i f.rr'-in'i"qi'}i l!al:fu :ﬂ

+ENEral Awareng L1]

axtfan Preden & smip e

4 . e L TR T —
w1 22283 & o & fyen e & 1 @uzfan @i w1 uftens amw ha‘rﬁgi ﬁﬂmpﬁﬁﬂ 31200 8w 4 ABK 'i '; sk . A9 XY
7. %mhufﬂt:fulluwingmherlu:md:u!’ﬂatwurdhLPIN'E'.‘
A 12133456 B. 1121691455 B ||
. 21691456
ﬁﬂﬁdh##mhALFrN'Emahﬂﬂmmt? e
A 12133456 B. 1121691455 C. 1121691456 D. 2121691455

28. 'Which will come next in the following series 7
EUZ, MOX, OIVQET

A SUR B. SAQ C. RAT D
Frafafen ot 4 @z & o7 sy -

KUZ, MOX, OIV, QET

A SUR B. SAQ C. RAT D. SAR

Direction: For next 2 Questions, Each of the questions below consists of a uestion and then followed
You have 1o decide wh:ﬂ'll.'l'lhednmpm&'idedh}linﬂtmumenqumﬂm:iﬂumaﬂnwm:zmn;:w“nm i
frim: 2wl & fi

thmﬂmn-ﬁ—!.llqﬂ[lmamﬁaE|m¢?rusi.'mm&mwﬂﬂf&#wﬂman-hﬁmrﬂg-:nhﬂ.1'-'

29. How is 'go’ writlen in & code language 7

L :m'l'unn':r again’ is written as ' tom ka na sa” in that code language.

IL ‘you come again now” is written 28 *ja ka ta sa’ in that code language.

IU.'mwmwarm‘ilnﬁmnu'mhnhum‘in;hltmf]n e,

A Onlyland 1T B. Only Il and IIT C. Only 1 and 11 D, E‘II are required to answer the question

“go” UF wis W A e o R oo &

I-“Now or never again™ =% s wm § “Tom Ka Na 52" # w4 4 firen m &)

I1- *¥ou Come Agmn Now” 39 #is wm 8 “Ja Ka Ta Sa” & wu § Gy om &

[I- “Again go now or never” @« ats = # “Na Ho Ka Sa Tom™ & wu 4 B am &)

A #am Il B. #ug [1vd [T C. dge [yd [ D. 5% 5 & oow A weh el @ warmem &)
30.  How many daughters does W have 7

[. B and D are sisters of M 1L M’s father T is husband of W

111, Ot of the three children which T has, only one is a boy

A, Only I and 101 B. Omly 11 and 1

C. All the three sttements are required o answer the question D). Question cannot be answered even with all [, 11 and 11
W o e dfd 87

I-Bud D, M @ % &) [-M 3 Bm TWa ol )
- T & autsr e awd & daa o aem §)
i i} B, #wa Il g9 I
E mltla:iimWﬂm-ﬂdmmh D. e il w1, 11 IO o fm ey oo s <ol fm st vt |
31, * Some leaders are dishonest”. * Satyapriya is a leader . — Which of the following inferences definitely follows from the
ahove two statements 7 g p
A Satyapriya is honest B. Satyapriya is some times dishonest
C. Leaders are generally dishonest [¥ Somes leaders are honest
“m & “woufim s A ¥
o mimnﬁﬁml .
A wenfn fmear B B. wonitn el a1
C. A enmorn: S @ B 0. mo Jm dweEn @ 2

wm.mumlhnmmwmmLmhmln

32. Ramis standing st P. He walks 10 metres towards st then he walks 5 metres towands the North and reaches Q.

metres wwards the South, then he walks 20 metres wowards the
What is the straight distance between P and ) in metres 7

B. 10 c. 15 . None of these i
::iwwllwﬁn#ﬂ!ﬂiﬂmlmw:mm:nm-mml_hnﬁnashmtnmlhqf
aife 20 dew wwm & e do @) alle 5 dice sem Q o ar afw #)
P i Q@ da @ g dex @ feh 17 B
A S B. 10 c. 18 n.ﬂ!'ﬂ"_ A ol
33 Mnmm“hﬁhﬂ#-ﬁuﬁnuuﬂmﬂudmnﬁ- people
iy % D14
J B. 12 gl | | ot & ?
i;ﬁinﬁungﬁﬁnm_mﬁnmiﬂm-tﬂ“"ﬂ‘“
A 1D B. 12 C.. 1
i ; i
AP T UNO: ES8182

e LU




g.'tr:lcunn For next 2 Questions, Unscramble the letie
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Reasoning Ability, Quantitative Aptitude, Computer Knowledge & Genera) 4
. Al Awareness

18 in the gi
A 2 Wl a Ry g warafoers sl 9 Ry -n.ﬂrhgz?;.;mdq und firdd the odd one

Ui HHirE e ] 'i|
M A PLPAE B. RAORCT C MI,\.-,:{ o)
A. PLPAE B. RADRCT C. ﬂl:'.,'_.\_{; (h] NOOMN]
35 A YBUR B. PERCOP R D.  NOON
A YBUR B. PERCOP c D. LpoG
Direction :  For next 3 Questions. - VRIELS D. LDOG
]ll‘.‘ign that aid:ﬁuﬁrghms of colours Eﬁtﬂaﬂd by the following relations
GREEN + BLUE :C‘{mw
RED + BLUE = MAGENTA
RED +GREEN + BLUE =WHITE
Then answer the following questions.
Frda A 3 e @ B
Ry 7y w0 i
m're H*TMWM:%ﬂMEmﬁa
e iE $r
o :ETT+=-'I'IH1 :m—;ﬁmm
wn Pyafain v & oae S
36.  Which of the following statements is true T
A BLUE +CYAN = WHITE B. MAGENTA +GREEN =WHITE
C. YELLOW +CYAN =RED D None of the above
frafafn & 9 #99 w ous v &7
A ArEr + eRef| = wdw B wedten e + B - WiE
C. e + sRea = @mm D. 571 9w
37. Ome of the following statements may be true. Which one it is 7
A Itis possible w get Black Colour by additive mixing of other colours.
B. RED + RED will give us a colour which is more red.
C. By varying the proportions of the component colowrs, we may be able to get many colours
D. None of the above
fFrfafte sa-l 4 4 e 5= 2 ) 98 @ W &7
A TE w9g & 5 @ren 9 am & fag e i @ dmers B 8
B. @16 + @fel 11 @ e < s e 1 e e
C gew Tl @ aror § ofedds @ @ e ae 9 o w wed ¥
D. 9udan wg A |
I8 Onlufﬂ:lﬂlﬁ:mm-mu Which one is it 7
E.WW—GWIMEHTA--BLUE D Nuu.‘nflluahm:
Frfaftan # 9 ve su aaw #) a8 o ¥
A whE ~ ae = eftfie p. Wiy — (fen-gw) = wedar TEd
c. e — g0 = wedian e — A "wﬁqﬂ.u 26, A ward is coded by repacig it
Direction : For next 2 i WM*‘”Z“MWW“ al word as an additional w the
: ::h,m adding the number of letters in
Aﬁ't?mﬁnddnn'ﬁ.m“m:mm-msmm may resultin noe-unique decoding
. A e e s &y g v
o hizuinﬂﬂl s gra m "gﬂ:ﬁmﬁ c¥du:nimi ABC w12 o AXVE
gmiugﬂh- i ﬂﬁﬂ b
19, Whichofthe following is an invalid code? c. 254 D. 201633

A 13204 B_am

g *I:ﬂ‘: #;? JIS:T.I C. 3254 D. 211633

decoding 7
40 Whichofihe following codes is pusranteed © have unique deeCERy D. None of these

L] o
e T AP CHOREER

e
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nlmmmmnqg.ﬂ wm ?

A m B. s

C.7e ' D. &
HMHlmimﬂthmmh.mu&mhﬂmhﬁmmandw
number respectively ?

A3:7 B. 6:7

C.73 D. None of these

ﬂﬂiﬂl-ﬂﬂwhiunﬂimlﬂmm#mmtm-mmmH
A 2 B.s7

:.__f_‘.m' : D.F!ﬁ-ﬂ :
im«-m-muumdmﬁ-n“h—mhum In how many days can A & B
B wwqﬁ-hmnk
o 3 N I.Iﬂdm
D.'Hiluofﬁut :

5

i

%gﬂtunn-ﬂ-ﬂ-Htgmtmmnm-nn%tr
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D. 32

 Ifthe angles of a triangle are in the ratio 1:4:4, then the triangle is
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 diviched all his property

a Il his &
gold bars were worth Rs, 4000/ eachind 1 - EMEm. The property wasin the form

of gold bars, silver bars and cash, The -ﬂﬂhl!ﬂﬂtﬂhﬂhnw:mmm 100). each

The property was divided as follows -
l-'qu daughter received 20% of the total property in the form of gold bars and Rs

. . 25,000V- in cash. The sccond daughter
received 20% of the total remaining property in the form of silver bars and Rs, 50,000/ cash. Each of the -m:img

3 of the total remaini  and cash which
25,000/- more than the cash received by previpus daughter, el

Prlfm 3T & el b fa g
ﬁwiamihqﬁqﬂmamﬁwmmﬁﬂ|
““ﬁm“mm*ﬁmmmmmﬂﬂﬂ?ﬂlmmﬁﬂm"lﬂﬂﬂﬂ"ﬁl-pm wf & ol oy o) wdl
m-mu.r.uihqiiﬂdraiﬂahnmm-mh-ﬁlm;nmﬁnﬁwnJrﬁ—

mm-’lgammmaﬁhﬁaﬁqﬂwumaﬁmﬁmﬁmmiﬂ#mmﬁnmzn%i‘mﬂum

T T 50,000 #
%ﬂﬂmfkﬂllﬂﬁﬂmim#mdm#m%ﬂﬂﬂﬂdﬂmﬂ'm\ﬁmiﬁt‘lﬁﬁﬂﬁﬂ &1 20% m g g el
aftwli 3 2 000 = aflrs wre v

56. What was the total value of the property 7

A Rs. 10 lakhs B. Rs. 20 lakhs
C. Rs. 5 lakhs D, 60 lakhs
el wultn a0 Hen wm o 7

A 10 @rE 6 B. 2 =4 w
C. 5 @ ¥ D. 5o &/ =

57, How many daughters were there in all 7

AS B.6
C3 D. 4
g P el i ofy 7
. b B8
v, & D.4

":&,:ﬁ How many gold bars were there in all 7

-_-:. - 4‘_“ B. 24

. L D. 26
fareit ot o o ot 7

FI B2

25 . 26

$9.  How many silver bars did the third daughter receive ?

B. 10
A 20

c.30 D, 25

drad 48 A A o R o a7 :

B. ¥

:: s

‘How many gold bars did the second daug 2

[iAi]
A lD
c.15 ’ . Nong
-
T 38 3 ) o ek A

i

R B o
A 1w " SRR
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Re SET-B
asoning Ability, Quantitative Aptitude, Computer Knowledpe & Gen I
*Cnera

Awareness

The first electronic digital computer was conceived by

A. Charles Babbage B. Joseph Maries Jacquard

C. John V. Atansolf 0. Dr. John Manchiy
wun gl ey sy @1 ge 9

A, ard b B. @i@w 8 e
C. 91 #. srer=llew D. #i Wi &

What is an email attachment 7
A. A receipt sent by the recipient.
B. A separate document sent along with the email

C. A malicious parasite that foeds on the message and destroys the content
D. A list of CC : and BCC : recipients.

§-4 we T 7

A, amerm @R el Tl

B. #-fa Wiwm & wm sor § dan m wenia

C. v e awaliell S w4 1wl w8 g Peo—eep @ e e dm
D. somrn @ CC w4 BOC: ¥[=h

The first stroctured programming language is
A. Basic

B. Fortran

C. Pascal

D. PLA

W W Wi = #—
A, it

B. g3

C. urss

D. & a1

E-commerce is an application of
A LAN

B. WAN

C. Internet,.~

D. Intramet

ot g arprd E-
A LAN
B. WAN
C. gewle
D. s

Which of the following is a single integrated .i:ir:ull?
A.CPU
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SET-B
%.l General Awarenesy

g “whmhtHHMMhm';

Pl B.AMFI
C. IRDA 0. SERI
bﬂ!h-h o PPy g @ o
L o
.*.ﬁ-hl B. AMFI

English, Chinese, French, Hindi, Russian, Spanish B. Arabie, Chinese, English, Deusch, French, Russian
Chinese, English, French, Japanese, Russian, Spanish D, Arabic, Chinese, English, French, Russian, Spanich

RO, wd wPm B wedl @) e wu da o
D aped) A sdall sfa, well dfm

on and Postal Office . Both B and C above

B. sfzm s drima sldegm
. D.BwECWN

S
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el & A W g Reen & Rred awiens ol 22
A Amm B ewh C. yum D,

: ""‘3 A. Bamboo dance of Mizoram B, Batukamma dance of Andhra Pradesh

By "'“ﬂ-“lhmnfﬁu D. Garba dance of Gujrat
ﬂ%w 56 o & A o )
ﬂ.m*ﬁ‘[ﬂ B. @i win @ wgwen o

- C.oww A Rg D warr w e e

73.  What is the name of the cruise ship that met with an accident in mid-January 2012 off the coast of lialy resulting in many

jestyof The Seas B, Titanic I1
D. Costa Concordia

*:-ﬂlmiﬂimww;ﬁlmimqﬁﬂihihmmm
; B. eife 0

A, Guwahati Airport lmmm
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E L L
Dhirection -
Examine the Iﬂ“ﬂwlllﬂ three statements and choose the correct

answer from the given opRions
Sttement no. 1 -

National Insurance Company Limited was incorporated in 1906,

Statement no. 2 : National Insurance Company became a subsidiary of General Insurance Corporstion of

India (GIC) in 1972 when General Insurance Business Nationalization Act was passed

Statement no. 3 : National Insurance Company has been delinked from GIC in August 20032 and

a3 a Govt. of India undertaking,
A. Only statement number 1 is comect
C. Statemnent number 1 and 3 are comrect

&l present in operating

B. Only sutement number 3 i cormect

D All the above statements are correct
P

Frafeftea ol @ aA & 3 ol 3 oy Rl & wfoom g

T 1 AN i sl Bie vo0e & Pt g

A F AW A B0 1972 § GEve ey altvdites aits g (GIC) @) wers el v amnen Sm amr wsfire sfle

aife g3 |

T 3 TR IV R e a0 A ol (GIC) 9 e ) vl gd Wi g s e o g aass o e d and e ol
A, Bad Wt 1w B B. #aa w3 @@ #)
C. #ue et 1 v 3 @ ) D. wll s wen §)

Dnrection :
Find out which of the following staterments is'are incorrect.
Statement no. 1: National Insurance received Best Auto Insurer 2010-JD Power Asia Pacific Award
Statement no. 2 ; National Insurance is the second largest non-life insurer in India
Statement no. 3 : National Insurance received CNBC AWAAZ award in 2011

A Statement no. 1 B, Statement no. 2
C. Statement no. 3 D. Statement numbers | and 3
fdm

Pt # & WA e FuEl ST

a1 e w3 wdiom aiic) gwhiee 200 — A8 R o AFnifEs gers na R
wa g e geriten Wi ) ged wad wit ol o dmen 2

w3 Awee e A 2 § CNBC AWAAZ gresr st R #)

B. ww W 2

t":; [ LS ]

i

I izt i exporters 7

Which following Public Sector Companies/Organizations provides insurance cover
A..Eﬂ;gd' B. N.Mlﬁrl!} C. SIDB1 0. IRDA
mnm-mm#*m;mmamn«u?
A, ECGC B. MNABARD C. SIDB1 D [RDA

'&ﬂi‘:h I ;l man"l: C. Kalahati [. Samng
A
m‘#ﬂﬂ‘-:m‘l; 3 S
A ehfeh et

“Guemica” was painied by ¥

A Leonardoda Vinci B Michelangelo €. Rembrandt Picasso
i (Guernics) g gra Rl M mut & - - D, R

A Rud-c-h B e e <
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;hmﬁm—m igns; Study the datn below and
il 4 & fay w9 [y oy miwa W d;; 1-';"{ .-:“:,L_-:.I_J??:fs:“n* that follow

Hank Stute ¢ |
o o Literacy ;_Il!l:‘*-n-Zm. Li m:lgsg.-gmmrm 2001 Increase
1  Mizoram [E2F BT 88, i
3 TI"[H.I'I FEma 1‘1.:]’9 e 2.80%
4 Goa 1t 7,40 :3 : el
5  HimachalPradesh Eeragm wion 7648 I;ﬂ ey
6 Maharashira FEIRI 7643 829 Gl
7 Sikkim Frfiese 6881 212 R
§ TamilMsdu Al g T1.45% m_j ]3'3?”“
9 Nlillmd Al 6047 2] e
10 Manipur iy 6374 0.8 Iq'{d:’iﬂ
11 Uttarakhand B T1.62 ':]‘g.ﬁ 16.1}\1«
12 Gq'lm Wt 6914 ?';1.3 I‘[?Tﬁ:m
13 West Bengal uffe ana 664 ; .
14 Punjab o 60,65 76 2058
15 Haryana Bty E|'.|':'§I ':‘E.ni- ;:;'::
16 Karnataka stee 66,64 756 8.96%
17 Meghalaya Exgien 62.56 75.5 2
; T5. 12.94%,
18 Owrissa siifsm 6308 Ta5 10.42%
19 Assam o 61.25 712 9.95%
20 Chattisgarh Wl 654 656 Tl 6.3:%
21 Madhya Pradesh eyl 60,53 To6 10.07%
12 Utiar Pradesh ELIE ] 56.27 9.7 13.43%
23 Jammu and Kaghmir s o sy 5552 6RT 13.18%
24 Andhm Pradesh S Wim 6047 67.7 1.23%
25 Jharkhand LR LR 531.56 67.6 14.0:4%
26 Rajasthan - 6041 67.1 '
; B69%
M Armachal Pradesh  sewiar wan 5.3 67 12.66%
I8 Bh g a7 638 16,8084
India i &4.84 T4.04 0.20%
« 2011 census results shown for Goa W & fag mon # arvess aoffe §)
081,  Which state witnessed the largest growth of literacy i term of percentage?
A Pradesh B. Nagaland . Fharkhand D. Rilar
uftvesm 4 e i e T WA s o
A ) T FERTAE | © EE | o fiem |
(2.  Which state witnessed the largest growth of literacy in absolute 1erms?
A. Nagaland B, Jharkhand C. Bihar D, Canmot be determined
fiv Trom A e o e Tl # el afivs o
A AP | B S| o fer D At
Q83.  In 2001, if the pmlﬁmulcnﬂ-‘-mmm what was the number of literates in Orissa?
A 20154725 B. 23155725 C. 23156725 D. 23157725
wh 200 . o) et a0 7ou,e20 o1 ST A v i o Fon Al a7
A EMIBATES B IMESTIS © JsETH D 3SITE
QB4.  I'75% of the males were litcrates in Orissa in 2001, what was the peroeniage of litcraic females?
A 50% B 51% C 5% 0. Cannot be determined wft aifsm A o =01 A
el & 78 st o & o s afters @ sl s wr?
g, Sy 5% o ol

I:hnlin‘.-hulm:mmhmmdhmmlmn.mhm“hmm
nnmmruq.uun:-bawhmofmwmmmwmnmwm
Chioose B: 1f the question can be answered by using either of the stutements alone. d

any of the salements alone.

Choose D: Hhﬂ-—uh-nﬂmwmumhmmwhﬂ-
S 1 W v b - i e AT T e | A 11§ 1 Pt seee @ argam wvh & owe i
A — it e o rere @1 ] & e s s o i R o e s e e e e o e |

mmmﬂvhumm

B o = it e e 4 s v e o e s e o
cﬁ-ﬁm-mﬂﬂ-nmm“hnmiwmﬂmw
1 o — e sy o e i o] e oy s oy =1 Py o e

RS, Inatriangle ABC, what s the value of angle C7
Hﬂ-m”ﬂlilnw
Siatement I1; The iriangle is an m

fasels Firgn e 4 Wi © 0 et v 1P 7
| w1 A b B o s e ai o el B

et — |1 g o g, g 1




N IST

Bhwﬁmfnr next | Question: Each question 1s followed by two statements | and 11 Answer the questions using the following instructi
mou.& Ifthe question can be answered by using one of the statements alone. but not with the other statement alone. v
~ Choose B: Ifthe question can be answered by using either of the statements alone.

e .mc Ifthe quentmn can be answered hy uﬂmg both the statements together. but cannot be answered with any of the statements alon
: ;Giim& If'the question cannot be answered even by using both the statements together, oo
TR g R uee e @ e ) eA iR | E P ALY & HAUR 924l B e -

A A!q R uvA &1 e A suHl F § dad 0 S o SUN B RaTa Godl 8 ol dao
B 'g‘l ~ af wes B1wan Hedl ¥ QY Saa B 1w v @ Sua o Rar i o
o O ol usd bl aux D41 o9 & 0F G121 UGN B 31 S Godl 8 e Sao el Ve deld &1 G
| Dgﬂ — uf wee @1 SR QA duEl @1 ye we gaa e A R s aed @ )

'I..,a-_

"'.‘i

g 1

HYU B4 &1 QUL & 4 [2a o ama £ |

AT &2 = faa it Uber £) |

Q&B Avcgmhle vendor sold 100kg of potatoes in one day. What is the profit earmed by him?
Statement I He hought the potatoes at Rs. & per kg

Statement I1: 75% of the potatoes were sold at a profitof Rs. 2 per kg and the remaining were sold at cost price

g wisofl [l A b T 100 b1 3i1e] da1 1 39 Rbetat e gan?
dU4 - | U7 B 8 waAld . el wder |

o 1 75 ufawd s v 2 vl B @ o w @@ ol Y Y veu W A% |

Directions for next 2 Question: Study the data below and answer the questions that follow:
a2 Wl & ferw PAda - A1a Ry 9 SieE) @ W SR RY 9y gl & e &

W1 and W2 are rwo different websites that had visitors using different We:b browsers. The information of the visitor’s browsers are given in the
AR wrdr W2 Gl aHell- el dawrge & ol dared 4 h m Pl Ul aﬁeﬂ qu < ?! atﬂar?’f B dreuii B gadr o divs F & a2

" ":” - vl I wi

R 3D

N S T
" & (hronve - 208,

® Cwome < 27.08% 1

Foolex - 2 1 Foinfns - M ERY,
B Othors, - 17.3% B Cthes - 19105
— - - I -.' s AR TR T LR i o - s
#Mﬁf 14653 ms m was the difference in the number of visitors coming thmugh [E and f‘hmme"'
SEASY. o € 800 D. 850 |
| mmaa:mﬁﬁmwmm @) e o diew w7 vr?
| nm "o R €800 D 85¢

WZ MM Chrome instead. W2 weuld have equal number of visitors through IE and
D. Cannot be determined

e )
Py

| g e R Rl W2 @ IE s e b oRy ectarel @) et v @il A

mmmm that follow:
# m ?in

L a i
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Directions for next 4 Question: Study the data below and answer the questions that o))
- CHOW !
Country Population density 1 . Ares T =1
any 333 % Population
Fﬁm‘"" T ;47-“21 8,22,17 800
|  United Kin For s e o
oy gdom ll’;‘; | 2,44,820 ﬁ;f':g;:;ﬁ
b | Y a1 .3,01230 5,97,15,625
pain B ‘ 5,05,782 4,67,71,37
Population density 1s in persons per sq. km, area is in per sq. km. SUEL
A 4 v @ v Ady %ﬁqwaﬁﬁaﬁaﬂéﬂmﬁqwuﬁta%mﬁ
| owen e | APl AT
233 3,57,021 8.22.17 800
N b 5,47,030 6,36,01,002
244 2,44,820 0687
s | 44, 6,06,87,000
. | 3,01,230 5,975,625
5,05,782
. | = VAR 46777375

Q 91. 1f99% of the people are literate in both Germany and France, what is th
France taken together (rounded off to the closest whole value)?

A. 144360614 B. 144330414 C. 144630616 D. 144660555

¢ total number of people who are literate in Germany and

irﬂ."\’iﬂ?ﬂmmﬁﬂmuﬁm&ﬁmﬁﬂmﬁaﬂ?mQ‘Fﬁﬂfir;,-.—ﬂﬁw%ﬁmﬁﬁﬁﬁatﬁﬁmnwmﬁwﬁmmﬁm?
A 144380814 B 144330414 C la4830618 D 144860555

Q92. Over the next five years, if the population of Spain increases by 10%, what will be the increase in population density?

A. 6.2% B. 7.4% C. 8% D. 8.6%
il Uiy anl 4 Ui} g &) svie 10 widea 4¢ Wiy o) Wl udd A [badl gl €07
A 62% B 7.4% C 8% D 8.6%
Q93. What is the ratio of the population of United Kingdom to the total population of Europe (as percentage)? Consider the total population
of Europe to be 84,20,33,572.
A. 7.0% B. 7.2% C. 7.4% D. 7.6%

W%mﬁmmWﬁ@mmmﬂwtmﬂ?mﬁ&z[miﬂﬁr-rﬂmm,zo,narztl
A 7.0% B 7.2% C 74% D 7.6%

. If the growth rate of population was 0.09%, what was the population of Italy one year ago?
5 A, sﬁs‘rs& B. 59661737 C. 59661900 D. 59661929

AT #1 72 009 B @ & ad ggd gedl He ower e 9
:‘ mﬁ B 59661737 C 59661800 D 59681029

: ion i _Answer the questions using the following instructions:
Directions 1 Question; Bach guestion is followed by two statements [ and II. Answer
Choose A: I?&::JM can be m:'ad by using one of the statements alone, but not with the other statement alone.
" Choose B: If the question can be answered by using either of the statements alone.
Mg Imm: bamwad:yyusingbothﬂw statements together, but cannot be answered with any of the statements alone.
'anﬂﬁeqlﬂﬁonmmihemﬂﬁdmbyminsboﬂl1h=lmtem=ntstogcthcr.
qeT B IR A
& | _ e g @ A @ wee | AR |18 Frefaft s @ SR B £ 0%
::iumﬂ;MM#imWMWWmMWmﬁaﬂﬁmmmmmmaﬁmm

- mmmwﬂiﬂmmwmwwﬁﬂwﬁmwm Bc ekl
gg-zmﬂmmmﬂmeEMUﬂmﬁﬂﬂﬁmmWmmwmﬂm

Bﬂ-ﬂmwmﬂﬂﬂw“mmmqﬂmmmm

ins?
Q95 MMA-&$hhpm_h:lkm&ummcﬁ,&mﬁwm&-ﬁuc:fﬂhﬂw
S Soament T Car A can uccelerate s the rte of Sm/sec’ whereas car B can acceleruie v P70
Statoment II: The highost specds of Car Aand car B are 120km/sec and 160km/sccrespect
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. mmm B.C.,D.EFG

. Egmhmdmhmuofnmi-‘.

. B_umlumrkﬂnfllmmwhmenahtn[u.

FInIHlﬂhulhth!ﬂuFC.wh:imt}ltlﬂ'lrrm-d.lﬂlulcllu[H

* A second to the right of 1.
m:iﬂi:qﬁ:nr;ﬁﬂqwmﬁﬁmﬂqwmdme-

*  amm 3, C. D, EFG o 1 T i T

* E Dxalr Eww owgilfl a8 81 = el

* B.H#® iy gow § o D & ofs) dwea 21

* FCdaiy s & o H o drs ami &

* A D#® wieh gem &

6. Who is sitting immesdiately on the right of D7

AF B G C.C ]

D & drm arith ot & 8 .

A F B. G {55 ] D.E
097, Wha is sitting immedintely on the left of D7

A F B. G - D.E

D & &% am &= & ¥ 7

A F B. G C. C D E

Directions for next 1'wo Questions; Study the data below and answer the questions :
m?ﬂifﬂﬂﬁﬂu-ﬁﬁﬂﬂﬁﬁiﬂﬁﬁqwﬁimqi- < omis reed

Wi oy 0 st iy I i o

a
e LR e R L p——— =

098, According 1o the data, when was time last time when the growih rate of GDP of Developed countries was higher than that of emengimg

A 1990 B. 1999 C. 2004 D, Coumnet bs dotonmitig

siegl & wpom faed an o e S o o @ oG o o s G @ el AR

A tesd B w8 C 2004 D ool ware e s |
099, In 2007, what was the growth of GDP of Fmerging countrics?

A BT% B. 6.3% C. 83% D. 28%

o gpoy & feefia &l o8 dvld 4 gl @ g em A7

ART% B 6.3% CE% D2-8%

sons: Fach question is followed by two statements | and [1 Angwer the questions using the following msirucrions:
Chiouse A 1N question can be answered by using one of the sitements sbone, bul m with e other stalsienl alene.
Choose B: [fihe question can be answened by using cither of the statements alone.
Chaose O 1 the question cen be answered by using both the statements together, but canaat be arwwered with any of the stasements d/one
Choose D Ifthe question cannot be answered even by using bath the statements iogether.

S S o Prdm — s e e | abe ) P arpet & sepe aw @ wo &
M!—-‘-l--numtt-n-n-mnm-mimnn-ﬂ-m-nm:-mm
Iﬂhﬂm-mﬂtiﬂﬂwﬂ-wwhﬂm
Cﬂ-in-mﬂﬂ-w-m-M-miﬂnhmn-ﬂ-nﬁ--hnmm
bﬂvﬂmmﬂ—l-n—ﬂﬂniwn‘-mm

-}'qﬂhuﬂm'ﬂh partcular tesl were [om the state of Kerala?
g LLuﬂmmlqmﬂ'ﬂl in the test, 25% were from South India out of which 3t were from Kernis
mmmmwmmwwmmnmmm

el 8 & Pt deet a1 b 47
:T:!.:“l“ﬂ | gL lﬂ-ﬁ::ﬁm#ﬂi i el @ 32 offerm v W )
- () ol % oy s e oo s § W 12 aitren aepaen 4

e T mpweoot: @ TWES UNC: 658275

CENTRE CODE: 077 -
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Directions for nex § Uusestion: Each
1 * Bach question is ol lowed by i
< i WO slEerTenty | |
{mn_ < mm:::umwmh using one of the "“'L-'“""""rlhm.: h:TmrrI,t::: the Giestinng g the following iner
Chisose : [fthe angwered by using efther of ihe stmlemenits alone Oithier stmement al e ki

qumimm!wthnwrmdhyum ghﬂh“‘-u‘hlﬂ n
: e 1% bopether, by cannol be nrewe
Chisose [ Il'lh:qtnl.ummmulh:uLEWE ﬂ.li'!'!l:lll!r \asix ghﬂh Hwam.m,:m,'m; i % vexl with any of the was -
cner.

i wlewe

ek s et o e vy — sl e o ey | Illlmwmﬂ’mmﬂ# e

AT B : I
D — i = o v i et e e e e o = e o ) R e 2 i = P o e

Q101. Adishonest trader mixes S00gm of impuritj
rice? o impuntiestoevery 10kgofrice to mke some extra profit. What is his toal profit in percentage

try e umg

mtl;THEﬂ:thﬂﬁczltRs.Mp:kgand sellsat Bs. 33 perkg
Statement II: The trader sells on average 35kg of rice per day

s R el g sl wm ae @ fr s 10 o e L I T r s o ——

W — | WO . 30 S T arfm # N v 3 o e e
| | wmord afiee oftfie ssfkan ams deen &

QI02. Whatis Vijay's age ot present?

Statement I: Vijuy's elder brother Ajay, wha is five years elder to Vijay, was twice the nge o Vijay 5 years back
Statement 11 A frer ten years, Vijay will be four times of his age five years ago
Fitrar offt mretsry @iy et B7

T — | firern o e A S, o v oty o e o7 ow s wf oEs Mo e e A S e
W - | | e P g o oee oft sl aw R wr T 2w e W o

0103, Pand () caneomplete a job in4 days. In how mary days can Foomplete the job alone?

Statement |: Pand () together can complete the job in 2 day
Suztement [1: R is twice as effickent as ()

P ot Bt el ) 4 et vt B | s g e e P y vy i 7

e | P ool Q wn sl w2 R 4 g w asd B
w1 R, Q o e g aw B

104, What is the area of  regular?

Srptement [: The number of sides o the polygon is known
Statement [1: The length of each edge of the polygon i knowm

Pt Pyt e @y T e 87

gl L o e g B
i g a el

taken)?
wickets in test crickol W hast is hiis strike rate (halls howled per wicket ¥

N R canceded per over, Lo sin balls) is 2AH und his bowling aversge (rand
{rums A

Statement I In test cricket, his economy e
nﬂ“ﬂlwhh“]iﬂ.'ﬂ i
Statement II: Fic has bowled 44039 balls in st cricket

,h,-nnnrhummmnmwwt

ity w18
_ e e e ey v (it afs e UE
:-:r:ﬂl!-tt_ﬂ!ﬂtl

- a4 i oy bl 1) e 7

apg oy v a3 B
g T A=) dad nl'umﬂhu-lna'rm.;q- P S
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Directions for mexn 4 Question; Answer the questions that fjlo | sing the fill i

asir ROV in forrm i om
P @ O means P is not greater than Q Fied i ! !
J"?&Umm‘l’:nmamulwlhalﬂi' i : ,
P# Q) means *P is neither Eriater, nor simndler than Y |
P30} means ‘P iumiﬂmgrumumnq.ul to
P& Q0 means ‘P is neither smaller, nor equal ko (r

t O - P8
Choose A: If Conclusion T is true bat not conclusion 11, : . :
Choose B: If Conclusion I1 s frue but not eonchajan I e
Choose C: If both conclusions g true,

- »
Choose D: If neither conclusion is frue, f'if'i:.-' '.H".':
Miﬂ*hﬁiﬂ—ﬁhﬂ!#ﬂ"lﬁﬁﬂhﬁ!ﬂﬂﬂmtﬂ
PEG ™ ot & s P, Q % war =i 1 PUl) w1 ot & PO = # ey 8 4
Pﬁhﬂlhﬁﬂﬂqﬂlwtﬂﬂmh PEQ & anl & 5 PO & o ot 30 B 3 ) v 84
PEQ an ank # 76 B,Q % 7 o wier &, % @ wom 8

P@Q w1 e & s P, Q & amr = &
gg.xﬁwt—lmmm-ﬁﬂ—umamuﬁ aft Freed— | =t o 2R B - ol 3 @

L=

20 N P> @

1.. ,-"_‘-:_:

o Preef il o Do,y wh Pk mlow gy
QI06. Statemenis: AL B, B%C, DSA = Ly i o
b Conclusion: D# B Canclusion I1; € @ D ARG B7.C &

' a7l prc DA
T~ ARR, B%C, DSA

e 1-A DWE Frepd—[1: CE@Dr .:—;-/, |"I1 B>
107. Statements: X #Y . Y@ 7 Ve o
R A cmuqma;x.éz Conclusion Il X 5 2 o] = “r" Ve &
- XHY, Y o '\" _g".. '?_
;-LIW,Z@Z Frewi-Il: X5Z A 5
QI0B. Statemens: AL B, CSD A%C .ﬂ'? ]EJ e {1 D‘ J‘q:;;' (_‘.
:D Conclusion 1: B$ D Conclusion 1L A & B
m — A&B, CSD, A%C : o EE -
Pred-1; BSD Poresd11: ARR 63D Az 3
Statsmontic R.R@T _ ;
B T BT il Q@ T pEEY. AP D

M%), Ok, <
& ;:l: MIT o foremd ) QT

: i =Y
Dyirections ﬁ:mtTf.]-.-ﬁm:Eﬂpmimh fiollowed by iwo staiements | and 11, Answer the questions usmg e Fodlowing instns:

=L
Mh'ﬂhwmhmh“mﬂmmm,hnmﬂmmwﬂm i?__ b
Choose :mmmhmwmmdmmm. A
Marmﬂmmuwwmmmwwﬂmwmumm
mmgllrhqmmhm“ummnmw.
anhnnihhh—mmt-ﬂm|in||l|mqm¢qmnmdm$

e o e o
AT !ﬁmﬂmﬂﬂliim“mmmﬂmh-miﬁhﬂﬂmmm

e s flar o w g Y.,
-;-:m'm::lﬂx::::l‘:;::ﬂ-wmiﬁiwhhwMmuﬁwﬂ fiten o=
C ot — ofly gy

nﬂ-ﬂm.mﬂ-ﬁ.wﬂmn-ﬂ-h—mm

e will be 8 years old?
i w__ﬂ:r.i.#ﬂ#dﬂrﬁmumﬁmm
Ststement I1. Arjun's weight was 28kg when he was 7 years old

o =g o
=T==r:-unmm 34 5, m o)

e — ) W e 7wl oA SR SN . wn i
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j < Answer the quesibons that fallow
#are Bludying different special

udy | LEations | CiEnce,
mqm?mmmm w1 RPNl Science, Civil ¢ hetrical, Wec b
different colour - red, blue, green, vellow, pink, oran

Seven friends A, B, C, D, E. F and ©;
Electronics, IT and Electrical, not .
F.l:hmnftbmhsnlikjngfmu
Three of tem are girls.
A likes the colour vellow and does not st

; W [ udy IT or Mechanical,
'Fbe unr.whu Ill:ld.le: Civil likes the colowr Erey and isa gLrII'E.:II
E:. who is 1h¢ saster of F, studies Computer Science and likes the colour Pink
&i's specialization is Chemical and 1ikes the colour Red :
F is a girl, studics Mechanical and lkes Ereen. .
C is a boy and likes Crange.
B likes grey.
The onc who likes bhue shudies Flectrical.

A

5E mrs]
TN I e p——
¥ necessarily in fhe e ider

N S e

R v Pl - ﬁhﬂaﬂq‘ﬁnﬁﬂmiﬁﬂwwﬂnﬁﬂﬂf!

o111

oz

0113

0114,

mﬁ:[fﬂ::wmb:mﬂdh'"ﬂﬂiﬂ“dh
Chiceose B 17 e quecstion san
Choose C: 1fthe question can be an
Choose [¥ [fthe question
gt 1 e fory Pelbe - vl e 8 O

:::__ e e w4 bt Wl

#ia M= A, B, C, D, EFalw G = By s ¢ ! i
L -in IS YT e — ;mmlqc-: mg'an;r:'rﬁ';::j;?r
‘ ﬂ:m::fhgﬁﬂwﬂm!—m.m.m_ﬁmqﬂ,mmﬁn#.mm&n&#muﬁ.r?.‘!
* A B A i wEr O e S oo & s d o 8

- q'rhﬂwinmitahﬁﬁqﬂhztﬂt“ﬂﬁt

*  E,F® wen § ale wogee i ol @ o ol gand i s 8

G = Ty s v @ o o ww T oo B

= Fow el § ot o o & man oo o b aeim B

* oy ww § o o W A e §

= B gy i o

«  fowh Mem i wein B g Ry & onaae 4 8

Which of the following is the set of girls?

A. AFF B. BEF C. CEF D. DEF
Prslafs § @ w3id = d2 @@ 1

A AFEF B. BEF C. CEF D .DEF
Which subject is studied by D7

A_ Electromics B. Civil C. Electrical . Mechanical
D & soa-dE a1

P B fla C P D =if,
Who is studying Electronics’

A, A BB C.C D.E
gt flsean smme 8 B

A A B B | e 1 D.E

Which : el L :
Jm‘hmmmnr m:-t_i::::rumﬂ . - Pink-Elestronics
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o alft B7 ; :
r:hmm:'{:?mrm B Cra - ifes) C D e . geugifee) DG om - el
westo i thee fallowing instructons:
Ouestons: Each jon is Tollowed stutersenis | and (1, Angwer the questions usng
: . e “ﬂ::ﬂum,mw with the other staterment alone.
wered with amy of the ststements slon

13, G=Red-Chemical

el ither of he siaiements alane.
e by i olthe imers el bt a2

uﬂhﬁhmmﬂ
cannot besmswered svenby e L0 b
m-mluﬂmmﬂuﬂmﬂhnammm "

st ) sy st fn o S qron A1 |

d'lmwmm-iuinrw
w et e amnen tﬂhmmﬂwmmwm we = fira =n

!
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Dimethon for next 4 i fi
g Illt“mi.f:imufe.u r.u the dats below gy BrEwer the qusstior
St -~ h:. PO lnstruciomn &, | ( « 0, E andl F g ';L"-. e
, Kbt n g e i e, BIL BAMIes - By,
- #le day, only one spor INSEructor will come
very week, one day is a rest day

I, by I, Cx i

£E

i
g
g
E

He is the Biadminion inst

st
F!.'tnr Badminton i played g
118 played on Friday.

§
1
=

B rvom o

L RER Lo e—,
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Q116. Which will be the rest day?

e ’ B. Tharsduy C. Saturday D. Cannet be determined
e w fEn e 4
A s B et C nfw [ ae o e
Q117. Which 15 pla just before Kabbadi?
game is played j
A. Football B. Basketball C. Crickes . Badminton
wagd & O wed @9 dF A awm Y
A gedia) R widedia e | 0 daftees )
(¥ 1E. What is the correct arder of the sport mstractors sccording the sport played (Monday &1 Sunday)!
A. BECDFA B. BCEFDA . AFDECBR D HEDCFA
i T st s dhe aoptwe a0 it o (e A i) e
A BECDFA B BCEFDA C AFDECB [ BEDCFA
Which game is F involved with?
b A :.l.hhﬂi B. Badmimon C. Crcket [, Baskethall
F ftva dos & wm dlag B
. arefiedld |
A wEgdl | B daf=a) C Mz I aresie

questions ussng e fiallowing -
et alone.

jom i stabem anil IL Answer the
ra—  [iach question is fallowed by two s | ;
Mliﬁﬁﬁmtmq by uswmufuumumuum,mmmmuumﬁm i
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Directions : Read the pass i
AgE fiven helnwurefuu... and ? ¥ 5ult)
Massaee nswer the questions 121, that follow BECOTHINg 10 the coments of the

TM lil'ﬂh’t mh“n“ﬂ warks on EU"'UL'IL'HII illl:r1|_"1'|-'- are those of the E

3 " ' & Englisk r
Albertus Magnus. In their treatises they maintained S gt '-frl'lc:rlk Roger Bacon and the German philosopher 5
MErcury were removed by various degrees of im ; PErtect metal and that interior metals such a4

perfection from gold. The ’r
transmuted togeld . This clusive substance was referred to as the "pilius.nph;:r':ur: o ’__*"“""'“”’ e
tone

=t and
tals could b

B R et v e s scemorma o e v
: . : term sun was used for gold, moon for
base metals. This convention of substituting symbolic language attracted = group of mysti
H‘ri-ﬂ:h for the perfect metal with the struggle of mankind for the perfection of the soul. The philosaphers began 1o wse the
artisan's terms in the mystical literature that they produced. Thus, by the fourteenth century, alcherny had du'wh::-:j:l two ;II I- tir “
groups of practitioners — the laboratory alchemist and the literary alchemist. Both groups of alchemists continued
throughout the histery of alchemy, but of course, it was the literary alchemist who was most likely to produce & written recarnd
therefore, much of what is knawn about the science of alchemy is derived from philesophers rather than from the alchermiss :

crets and often resorted to cryptic
Sibver, and the five known planets for
cal philosophers whao compared the

0D Wirk

% whi
laboredin laboratories.
121. (1) What is the author's main point ?
A, There were both laboratory and literary alchemists.
B. The philosopher's stone was essential to alchemy.
C. Roger Bacon and 5t. Albertus Magnus wrote about alchemy.
0. Base metals can be transmuted to gold by blending them with a substance more perfect than gold.
121. (2} The word "authentic” in line | could be replaced with
A “valuable* B."genuine” C. “Complete”™ D, “comprehensible”
121. (3) Roger Bacon and St. Albertus Magnus had the same
A, nationality B. premise C. profession 0. Education
121.{4) What was the “philosopher’s stone " ? i
A Lead that was mixed with gokd B. Anelement that was never found
C. Another name for alchemy D. Abasemetal
121.|5) Who were the first alchemists
D Linguists
% ot B. Writers . Artisans ing
349 = 12 marks
Bt g 'ﬂ'
122. Pre'cis ul a1mrmﬂlﬂmwiﬂ
The only satisfactory “wm-:“hlshylieﬂlﬂll'l example to others, Once upan Mhﬂﬂ.ﬂﬂ"‘m

anstant wars J L fellow.
disturbed | aughter in which mankind indulged. He was a quiet L i
e i m:uhuﬂaﬂwh!reh!IMHmur,allhuu;hhtﬂdmtmmmmh,heHnE o
wmu:ﬂdlﬁumm about the sinfulness of killing one's fellow men. Hﬂrﬂ!wplﬂd.

e realised that pacifism in one "
h them, but soon Hmm.mw . lﬂ"‘.‘

" thinking, and at last decided 10 _
d nlhhuilmmdwuquite successiul wit

i i fram the
warld, and he decided that, if he spoke
pegan te climb to the tap, but hl-l‘f-lﬂll up, his path
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